Ulse the follewing informeation to answer the next guestion.

To prevent car thefis in a parking lot, security cameras are installed on the outer walls of
several buildings, as represented in the diagram below, Camera A is programmed 1o have a_ — r" e
a recognition range of 400 m and covers an arc kength of T80 m, -
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Use the following information to answer the mexr gquestion,

The following statements are made with reference 1o the unit circle,
) Wi -
Statement 1 The point Al *5—, 5| lies on the unit circle.
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Statement 1T The point all-"_T' ;] lics on the unitcircle, FALSE ——1F ?-\- v gz T.ﬁ.-

'T‘Stﬂemﬂl! Il For any point on the unit circle, x* + v' = |
FALSE ~
Statement IV Any point that lies on the unit circle can be described a5 (5N, CoR ), m—t— ?—‘- L 5 L s SQ‘ 5‘ (\a
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Use the following informarion to answer the next guestion,

Point Py, ¥) lies on the terminal arm of an angle, 8, in standard position, ‘
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Math 30-1 Trig Quiz | 3 6 T Name:

Part 1 — Written Response

1. An angle in standard position £ has a terminal arm passes through a
point (-3, 5).
(a) Sketch the terminal arm, the position of the angle (clearly label & as
2 well as the reference angle &), and an appropriate triangle with the
exact value of all sides labeled. S
(b) Determine the exact value of all six trigonometric ratios of &.
=g}
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(c) Determine the value of &, correct to the nearest degree and
hundredth of a radian.
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2. Fortheanglef = ——
(a) Convertto e y
¥4 gﬁ > = —445
(b) Determine the principal angle, in radlans. S‘
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(,C_) il)(Ae”t)ch both & and the prlncipal angle. (Label principal angle as f}‘\
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(d) State the reference angle, in degrees

' LoLeocence Qe\s\e,\ ol = %Z- 1<
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(e) Use your unit circle or special triangles to determine the exact value of sin &, cos&, and t
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3. Use your calculator to determine the coordinates (nearest hundredth) of a point on the unit circle P(?"}.

(What are the coordinates of the point for which the angle in standard position is & = —)

sin(S<[) = 0.92  cos (5Tl1)= —0.11

. e (&) :K’O'(_T\f‘q?))

4. Use your unit cir termine the exact value of each indicated trigonometric ratio: ’ 2 é'ZC
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(d) su&{——} =<0 'CE

(2]

5. Use your unit circle to identify the angle(s) between 0 and 2 for whichcos 8 = —%. Answer in exact rodions —please

include o diogram.  Also —5State ageneral solution tocos8 = —%
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6. A pointon the unit circle has coordinates P(——,}} Determine the two p05 \%alues ofy, and the two
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possible values of &, correct to the nearest degree Please include o diogram. ©
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